1 BENEENENFE =R

7K N = T
28 29 30 31
IR R fR&
3 g 3 3 3
B AH A8 AH B B
F1E1K32 F1EIKSZ
1/1 2 3 4 5 6 7
IR IR
5 A 5 D B B
K52 = K52 K52 e e
8 9 10 11 12 13 14
IR R fR& IR
3 g g g 3
A8 AH A8 AHB Nz
FEIRZ | FHEIKEZ
15 16 17 18 19 20 21
IR fr& B IR
g 3 g g g 3
AH A8 AH AHB Nz
FEIKEZ
22 23 24 25 26 27 28
IR fr& B IR
3 g g g 3
AB AH AB A B
F4IREZ
29 30 31 2/1 2 3 4
fr& B IR IR
g 3 Bg 3
AH AH A B AB A B
F41KE2

ORKRAELR : 6(%)-9(8)-12(K) -13(&) - 16(A) - 19(K) - 20(R)
23(R) -26(RK)-27(&) -29(8) -30(RA)
FRIDZEZMHE : 00-11 : 30, FEROZER{IIEI15:00-18: 30T,

>k 3k ok ok ok K GERISIR k >k >k k ok k ok
BIE - RBI3IFRIZROHM. FERIIKZEBRDET,
EEET1 ATDZEBICDONTIL, BHITDITEMNDBDFT,

s % sk ok k FEREEIBICEIS B TIRIA * ok * *
AlgE (318) Fi~1 BABIIKBERD, FEOBRII S58DEERDET,

@ ny ooy R




